
8l k' eE cErn $ mr< q<( 'q' ee c<r+ 1F arm
B-s* rTs : )ox3=3o

T_gq
(+) "'ql+t. ft <rq qslq' q![ qr ficr-d fiI

d$ frks Q{TRI" :t:{rfiIrcm qt {sc<r<
cfafTsr ftErd T(.1r r

({) " 'scrq ft vcq cglgtk TcrpFEt tx c<m'
qTlq {fqCT[Td rlQr Rrr r" c{nqrEeqd q!,

{s6rr?r iRrgfrcs qq $arfi flffi
wlqtcqdqEEtE-{Trnl r

(ur) 'qTq ft fqr{q <tO cqre cr*-cqRrq-{ r"
',{r$q fr a6q qqq' rq{ciK krr{ rRtlql
IiFrq(Trfi<rsT-6[ |

(!) ',4rdq ft <-cc wrsr' eq-{E(v qrm lEcs
qlrel'nmfumqRqw r

it-Eq
(T) 'emft-s' {b.ql Gmrft-or 'g fist< wcnff{

{Krcc siq-6{8ffi r,.rcn-{.6 ffiE{ g\gtfis <T
WcqqwcqIu-{TrlI r-

(q) '{Efus' {kTr {T$rrqr rr(+q Rurs ocn r

(q)'${fus' aftffi qcs <E Dffi ftcmq +cn r

(q) 'frF 'Ng.rk iRs lr1nr qR$ry qrfur
1&r ss @ qrqrrr qEce-d afi€ q&$
bDsr@ r" 'cF&-6' {fu ltcq qrrcqt6-6e-d qQ

qsr{K qmrs {tTtr{ qflqsa frc$sq r6dt r

***
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> t ftcft q{na qG xfug bq{ kt\e : :x)o=)o

(T) rqe"q{ rR <1c< 'Ews<frft {qk qfter.H
qe{Gs Rrc- ?

(q) 'frI c{q rR ,s{cqt {-q{ 6ss{ cet$
cac<ffi r (t6?z-<) sr< c<rcr r" qt '6{rcq'<

eryvnmfrr
(rr) "'e qt, RtQrftfr ru.q ft 6Etir qs 6{qBT qn

ct r" prs bfu r

(x) "qr+ ft ms c<-ql <crr gQ qq-q &or< s"rs

ffi ftft r" {<qltrzm <t&< svm<rq< qRqr+t

6E1-1 '6-aa' 6-qqRq2

(e) ScgrRRftsr'G6K.t q{cs orft*q ft smmq

ez<Rq z
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BENGALI

( Modern Indian Language )

F\.tll Marks : 80

Ttme : 3 hours

Tte figures in tlrc morgin indiute full mnrks
for the qtestions



t2l

(D) sre-PflftcvnPtuKmff?

(E) "flr-oKB \grT crFr, 6fl{& fiRrsd rc{ cEK

69Qq 1" 'cr{'r& flfE' <Et(g TrGF 6{Fllr6{l

{6SCq?

(s) qlq{ k{Tfir ftrTr c{r{-{ Rf, ?

(<r) 'qTq <tzs qR flcueg< R{ Ie crsrc ER t"
e&l'fifr\9-t $f6{ <FIEE6F NII:I qf(?.i

fteqRer{r

(q) <mccr$ fi-q( q{, ff b'RK qz{RE ?

r r qiftg G-s{ kls : lxc=)o

(T) $rft-{Teqm "i-fl f{s< 1st< {N ftr &B costl
19;rc<t +r<kcr+r

({) {-<-tffi 'e srft{rqr qtmc+< ffi cqc{

ffi r"l'< qR-c+rcq< cuTm{rr+ Rfic{
fir {N rf€rT T-?il <{REr 6q ggil?t q6{Rcr{ r

(fl) 'qssI:.d{ erqftcm e3-{E cser frc{ qr{l r

q-qs"Ig{ 'nqKR m c+ Rc r " esr"nfrrsl-{

w:1c+< fr erqA-d {N c{6{ r

(x) '-smnn< c{Fr6qi seT II.trt, ftq dr ETs{

c& r srcs ffi b"iz< rK lTfl 'tc-s &ft kq
qc& cq-t vlst 6st.n-v r<-cqr t" {cl 6{ ? $K
TT(s ..{ TAI lzIT {CTCq ?

(s) fiV<rwr "rR-sr6f r-6d gr{rfrsi c$11 cn* <mt

qc<Er++ r c+ 6r< qA {6{Rcfl r

(31

e I k;, sq cqr$ $ am q<( '{' sE ero 1t ercf<

Bg<tT.g : cx8=\o

T..-eq

(+) 'qrda ft a5q qvet' {enrd tww' DRqS

ftcgsqr-6r I

(q) 'er+1 ft qrq {e-rst'i ft€tq qu6l ftA{ q6tr
q?Flrrr{ n-{T{KCT-{ {& q{iiF[eFI

<q-<ft+sm 6{ Ifr1.t ffiEr 1zt tchq srs

<f*t clst

(rr) 'BT{s<Frft Tqk sftc+tr frfr src{w r-6fl r

q-eq

(q) asmft-si qrrm <Frus-m Esn srrc co.c{Rcql

6s;t ? rFIuri ffsrcs gH ffit +e-cs cq{
<lRr+qqqlarFrT-m r

(s) 'aT{ft-s' a1ft-E <tl61<l ltrq< EA-q fr'ff{.l
s'a r

(q) 'qF (qqrrm(rq[ | \sR{1qt{{(gDR, 1T
<rq 6$hr" m .& G& qc<Rcqqr +nn
VmL Ttq q?Fe[ rrql <GRqr ist \tE-s 

"m'<-q-r IrIc? !g' <a 6{16q;{ 6$;[ ? r'\crFc,t
qTCAIIFII TCAT I
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